RR—E (&¥#F) Q)R6.74MESE

(1B Ht) ® & & I - F f
B R - B = S6FETH238 B|E
o H|F K| EREM E B & B |EERU B i |2iE8 M AR B | B OE|-EEH o cae
BgE | & oM |ewwn|E £ |@ W| EF B A/Bl O = #&ﬁ
FHETE |EEHE EES | TAEZS F ®|EH Al (m) A(m) B(ha) (m (m/ha)| B
EFAE|EFEB| 2 7106 K ihEF T —FHT | SIREEEE | Z0fh [|3.0(20) 2,713 108 24,404 25.12 =" 409
EFIE | EFLE| 3 31151 KR BRFHHE —FHT | 2B EEE | TOfh [3.6(26) 1,852 200 22,742 9.25 i —&RRTE ¥R
6 3112 /MB R 1R BRI —FH | 2k BHEIEE | TOfh [3.6(2.6) 1,000 226 24,864 10.51
EFILE | EFALE =
2R EBEE | ZOH [4.0(3.0) 1,380 AFER  2380m
EFAE|EFE| 7 5117;81L #WLF3 —FHE | 1#kBEEIEE | TOfh [5.0(4.0) 688 46 5,123 15.01 i3 —ERETEER A
EFIE|EFE| 10 FARRAEES BHFETA —FH | 28k BHEIEE | TOfh [3.6(2.6) 869 14 2,675 62.09 i3 —ERETEER A
EFILE | EFALE| 16 7109 KF FEHFKE —FHT | 2R BEEE | Ot [40(3.0) 2,120 76 5,857 28.03 3
EFALE | EFAE| 17 7T113|5Rik bt 5 5 i —FH | 28k BHEIEE | TOfh |4.0(3.0) 700 55 6,882 12.82 3
EFILE | EFALE| 18 7104| %48 EHRFALTIR —FH | 28k BHEIEE | TOfh |4.0(3.0) 5,658 194 17,587 29.23 3
EFIE|EFLE| 20 7105|REF AFFEHR | —FH | 2ikBEEE | O [4.0(3.0) 2,622 165 17,712 15.90| HEGIRB®)
EFILEH | EFLEH| 21 3117|/hK INRFILFH —FH | 28k BHEIEE | TOfh |4.0(3.0) 4,862 317 39,453 15.34| HEGIRBE)
EFILE | EFALE| 22 7108|#a8 #ILFB —FHT | 28R EBEE | Z0fh |4.0(3.0) 569 68 9,398 837 ECIREER)
EFILEH|EFLEH| 23 7107| LB —FFL% —FH | 28k BHEIEE | TOfh |4.0(3.0) 2172 98 13,058 22.16| MR —EEEEA
24 1103 R 8 BWILFEE —FHT | 1B EEE | R (5.0(4.0) 6,183 1,230 230,042 5.03| EGHRBE 140
EFILE | EFALE
2R EBEE | HEi#h  |4.0(3.0) 8,041 101|&FHEER 14224 m
EFILE|EFE| 26 3120& 7% ZEFHHA —FHT | 1B EEE | Ot (7.0(6.0) 4,237 284 47,379 1492 HEIRBE) 4,237
EFILE | EFEH| 27 70| ILIR R BILFR R —FH | 28k BHEIEE | TOfh |4.0(3.0) 2,908 85 10,723 34.21| BIRBER) 42
R Tk TREBHEE | i 7.0(60) 3,689 1414) 140,684 261| ROIRER) 3,689
EFILE | EFE| 28 1101 <%;‘§-E%> EHRFER —FHT
1REEHEE | R [50(4.0) 0 AFER  3689m
1HRBEEEE | Rih  [7.0(55) 560 936 313,152 253 HEIRBE) 2,369
EFILE | EFAE| 30 R T8 EHRTFIRR —F i -
1RBEEEE | Ri#h  [5.0(4.0) 1,809 AFER  2369m
17 B 54,632 5515 931,735 9.91 10,987
SE:DRITIH R TR TR S, RRTBRRIISIESELRICE#HTIIL, EERIEE EERSEEE (W)
3/31RIFANFFETHL 1R EEEE 17,166 Bz D BEE 1R BB 10,435
3%k, 20m 2,713]1 2R BB EE 34,753 i 20,282 2REBHEE 143
i8R 2#%. 3.0m 34,753|11(12) [3HREBHEE 2713 Z Dt 34,350 SHRBEEEE 409
E 1#&. 40m 8,680/2(3) &t 54,632 it 54,632 =t 10,987
1R, 28K 8.486|3
it 54,632]17 [—EzHgl 37,6523t R E48) T E R 2




